BAEH 1 2022412H31H

ILBEREIOHARE BRI YL E

SERR I AREE

E=% S S )

— 1,900 m/=
(2,090)
HER=
HAERE B
0.0 m DiEE 0 m/m
0)
01 mM  ~ 50 M O 700 F/m
(770)
51 m o~ 15.0 M 0% 660 m/m
(726)
151 m  ~ 40.0 M OIS 630 m/m
(693)
401 M~ 9,999.9 M O 600 m/m
(660)
FE . TBISXE
FE: (BiASE)
(HZREOEEE] HREAEE = 18.5 M DIEA ;
g EARIS g
: —2 B i
{1,900 M + 10 % = 2,090 A} i
i EERS 5
i 3iE A A FH= SHER i
i 700 H/m X 50 m + 10 % = 3,850 M !
| 660 F/m x 100 M + 10 % = 7,260 M i
E 630 H/m X 3.5 m + 10 % = 2,425 H i
185 m 13,535 @ > 15,625 M| |

AzERES (T52)

CERAZL HAERE HZMsE (HA)
2ATF 42 m ~ 8.1 m 5,324 /A ~ 8,190 F/8
3A 58 m ~ 11.1 m 6,520 /A ~ 10,368 FI/A
4N 73 m ~ 14.2 m 7,609 /A ~ 12,619 F/A
XRAUAZGBRZEURKBLEHERL T, AAERERSUR KEFICLVEFLET,
XAZERE. fANEFFGBELRTY,
CfERERR. JERAEFICLD. EEROEBDIRERMEENHDET .




